Q .
tex1 TEXI CD IRON

CD001 CD002 CD003 CD004 CD005 £Dbooe CDo027

CD0028

CD0029

CD0012

8T
E o<l g CD0042

ooz 2 g

- g
€D0023 @0 !
cD0024 )
CDOM
CD0026

Code Quant. | Name Code Quant. | Name

CDo01 1 Wire jacket CD0023 1 Thermal fuse
CD002 1 Back cover CD0024 2 Cushion

CD003 2 ST3*20 screw CD0025 2 M3*5 screw
CD004 2 Line ball fixer CD0026 2 Cushion

CDO005 2 M4*8 screw CD0027 1 Swiich of lock board
CDO006 1 Handle CD0028 1 Axes of handle
CD007 1 Knob of thermostat CD0029 1 Button

CD008 2 ST3*10 screw CD0030 1 ST3*20 screw
CD009 1 Phonation spring CD0031 1 Micro-switch
CD0010 2 M4*14 screw CD0032 2 ST3*20 screw
CDO0011 1 Base of Knob CD0033 1 Right handle
CD0012 2 ST4*12 screw CD0034 1 Cover of handle
CD0013 1 Terminal CD0035 1 STc*14 screw
CD0014 2 ST4*12 screw CD0036 1 Left Handle
CD0015 1 Base of terminal CD0037 1 ST3*16 screw
CD0017 1 Connector of tube CD0038 1 Therm-isolate panel of iron
CD0018 3 Spring of tube CD0039 2 M4*8 screw
CD0019 1 Cover of therm-isolate CD0040 1 M4*24 screw
CD0020 1 Tube CD0041 1 Thermostat
CD0021 2 M4*6 screw CD0042 1 Inner wire
CD0022 1 Fixed board of thermostat CD0043 1 Solplate




